Decode
To decipher the encoded message, you must find the keyword used to encrypt the message. The keyword is the answer to the following riddle: “Take away my first letter, and I still sound the same. Take away my last letter, I still sound the same. Even take away my letter in the middle, I will still sound the same. I am a five letter word. What am I?”
The Encrypted message is “meqy sjtyo errepg ueshr pkilokidqyt hdbcrqemyoq qyyj kuyovcyhiyt”
The answer to the five letter word is: Empty
[bookmark: _GoBack]The Encrypted message is, “base under attack vault compromised lightsabers seen overwhelmed”
